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QUESTION 1

One of the goals of your newly formed SOA initiative is to speed up time to market for new and updated functionality.
Which option best supports your goal? 

A. Utilize Service composition to reuse and combine existing Services to form new more course grained functionality. 

B. Utilize a common data model across all Services so that no data transformation is required when Services are
reused. 

C. Only deploy SOA Governance when you have 50 or more Services. 

D. Utilize REST Services over SOAP-based Services because they are quicker to develop. 

Correct Answer: A 

 

QUESTION 2

After executing your SOA initiative for a year and deploying four SOA projects In production, It has come to your
attention that Services in production are only being consumed by the original Service producers. What course of action
do you take to address your challenge? 

A. Implement a service consumption review process whereby solutions are monitored for appropriate Service reuse 

B. Change the current waterfall software development approach to an agile approach to increase service consumption 

C. Make all Services generic so that they are applicable to all current and future projects 

D. Perform service harvesting on the four completed solutions 

E. Communicate to your project teams to consume more Services 

Correct Answer: A 

 

QUESTION 3

You receive non-functional requirements for a set of business Services which specify that the Service must deliver
secure payloads. In addition, the Services need to be built whereby they promote reusability, especially in
heterogeneous IT environments. Which option best describes how you would design the Service? 

A. Use Java to build the service and SSL to encrypt the transport. 

B. Use Java.security to encrypt payload while making sure that service consumers are on a secure and reliable
network. 

C. Use WS-I to promote interoperability while using the WS-Security family of services to secure web services. 

D. Use WS-Policy and WS-Reliable Messaging to support delivery-based quality of service. 

Correct Answer: D 
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QUESTION 4

Which three of the following are architecture principles for service-oriented integration? 

A. Point-to-point integrations should be avoided. 

B. Integrations should be point-to-point using Web Services. 

C. Message and data formats should be based on the native application data structures. 

D. Extensive, intrusive modifications to existing applications should be avoided. 

E. Service consumers should be able to migrate to a newer version of a SOA Service gracefully. 

F. There should not be more than one version of a SOA Service in production concurrently. 

Correct Answer: CDE 

 

QUESTION 5

You are a developer working on a Service implementation and you notice that there may be an opportunity to make use
of another external Service to deliver your implementation. What steps should you take to make use of that Service? 

A. Incorporate the Service using its published interface and inform the governance board when the project is finished, so
as not to delay the delivery schedule 

B. Create a second instance of the Service for your purposes so as not to affect the capacity of the current Service 

C. Gather the re-use justification and present it the SOA governance board and wait for s/gn-off of your new design 

D. Bypass the published interface and call the implementation of the other Service directly so as to reduce the latency of
calling this Service 

E. Copy and paste the implementation code for the second Service to expand the implementation of your own Service,
so reducing latency to a minimum and creating a composite Service 

Correct Answer: D 
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